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                    ÁR;sd Á’u dh vf/kekurk 2ÁR;sd Á’u dh vf/kekurk 2ÁR;sd Á’u dh vf/kekurk 2ÁR;sd Á’u dh vf/kekurk 2----5 5 5 5 vadksa vadksa vadksa vadksa dh gSA dh gSA dh gSA dh gSA     

lgh fodYi dk p;u djsa % 
(Choose the right option) : 

¼61½ dksf’kdk fdrus Ádkj dh gksrh gS\ 
 How many types of cell are there ? 

 (i) ,d ¼One½  (ii) nks (Two)  (iii) rhu (Three) (iv) pkj (Four) 

 
¼62½ dkSu&lk /kkrq dejs ds rki ij æo gksrk gS\ 
 Which metal is liquid at room temperature ? 

 (i) yksg (Iron)  (ii) ikjk (Mercury)  

(iii) rk¡ck (Copper)  (iv) ,syqfefu;e (Aluminium) 
 
¼63½ eysfj;k ijthoh dk okgd gS % 
 Carrier of malaria – cansing protozoan is : 

(i) eknk ,ukW¶yht ePNj (Female Anopheles mosquito) 

(ii) dkWØksp (Cockroach) 

(iii) ?kjsyw ed[kh (housefly) 

(iv) frryh (butterfly) 

 

¼64½ lapj.kh; jksxksa dk lcls eq[; dkjd gS % 
 The most common carrier of communicable diseases is : 

 (i) phaVh (ant)    (ii) ?kjsyw eD[kh (housefly) 

 (iii) Mªsxu eD[kh (dragonfly) (iv) edM+h (bufferfly) 

 

¼65½ dkSu fo|qr dk pkyd ugha gS\ 
 Which is not the conductor of electricity ? 

 (i) rk¡ck (Copper)  (ii) yksgk (Iron) 

 (iii) IykfLVd (Plastic) (iv) xzsQkbV (Graphite) 

 

¼66½ fd’kksjkoLFkk dh mez gS % 
 The age of adolescence is : 

 (i) 0 ls 6 o"kZ (0 to 6 years)  (ii)  6 ls 10 o"kZ (6 to 10 years) 

 (iii) 11 ls 19 o"kZ (11 to 19 years) (iv) buesa ls dksÃ ugha (None of these) 

 

¼67½ cy dk vUrjkZ"Vªh; ¼S.I½ ek=d gS % 
 The International system (S.I) unit of force is : 

 (i) U;wVu (Newtons)    (ii) ehVj (metre) 

 (iii) U;wVu ehVj (Newtons metre)  (iv) buesa ls dksÃ ugha (None of these) 

 

¼68½ fuEu esa dkSu lh xSlsa ngu esa mi;ksxh gksrh gS\ 
 Which one of the following gases are used in combustion : 

 (i) gkbMªkstu (Hydrogen)  (ii) vkWDlhtu (Oxygen) 

 (iii) ukbVªkstu (Nitrogen)  (iv) dkcZu MkbvkWDlkbM (Carbon dioxide) 

 



 

 

¼69½ vkarfjd fu"kspu gksrk gS % 
 Internal fertilization occurs : 

(i) eknk ds 'kjhj esa (in female body) 

(ii) eknk ds 'kjhj ds ckgj (out side female body) 

(iii) uj ds 'kjhj esa (in male body) 

(iv) uj ds 'kjhj ds ckgj (out side male body) 

 

¼70½ ekuo us= esa fdl Ádkj dk ysal jgrk gS\ 
 Which type of lens is in human eye ? 

 (i) mÙky (Convex)   (ii) vory (Concave) 

 (iii) lery (Plane)   (iv) buesa ls dksÃ ugha (None of these) 

 

¼71½ feÍh dks myVus&iyVus ,oa iksyk dVus dh ÁfØ;k dks dgrs gSa % 
 The process of loosening and turning of the soil is called : 

 (i) tqrkÃ (tilling)   (ii) dVkÃ (harvesting) 

 (iii) cqvkÃ (sowing)   (iv) fujkÃ (weeding) 

 

¼72½ fuEu esa ls dkSu lkSj ifjokj dk lnL; ugha gS\ 
 Which of the following is not a member of the solar system ?  

 (i) {kqæxzg (An asteroid)   (ii) mixzg (A satellite) 

 (iii) rkjke.My (A constellation)  (iv) /kwedsrq (A comet) 

 

¼73½ lw;Z ls lcls vf/kd nwjh okyk xzg gS % 
 The planet which is farthest from the sun is : 

 (i) usIV~;wu (Neptune)  (ii) 'kfu (Saturn) 

 (iii) cq/k (Mercury)   (iv) o`gLifr (Jupiter) 

 

¼74½ ?k"kZ.k fuHkZj djrk gS % 
 Friction depends on : 

(i) i`"Bksa dh ÁÑfr ij (Nature of surface)  

(ii) vk;ru ij (Volume) 

(iii) inkFkZ dh ÁÑfr ij (Nature of material)  

(iv)  ok;qeaMyh; nko ij (atmospheric pressure) 

 

¼75½ Ñf=e js’ke dk nwljk uke D;k gS\ 
 What is the other name of artificial silk ? 

 (i) ukbykWu (Nylon)  (ii) js;kWu (Reyon) 

 (iii) ,sfØfyd (Acrylic) (iv) ikWfyLVj (Polyester) 

 

¼76½ /ofu lapfjr gks ldrh gS % 
 Sound can proparate through : 

(i) dsoy Bkslksa esa (only solids)   

(ii) dsoy æoksa esa (only liquid) 

(iii) dsoy xSlksa esa (only gases)   

(iv) Bkslksa] æoksa ,oa xSlksa rhuksa esa (all of solids, liquids and gases)  

 

¼77½ dkSu ÁkÑfrd ifj?kVuk,¡ ugha gSa % 
 Which is not a natural phenomena ? 

 (i) HkwdEi (Earth quaket)  (ii) pØokr (Cyclones)  

 (iii) rfM+r (Lightning)  (iv) HkwlEidZ.k (Earthing) 



 

 

¼78½ fuEukafdr esa dkSu&lh ikS/kk ?kj xSl ugha gS % 
 Which  of the following is not a green house gas ? 

(i) dkcZu MkÃvkWDlkbM (Carbon dioxide) 

(ii) lYQj MkÃvkWDlkbM (Sulpher dioxide) 

(iii) esFksu (Methan) 

(iv) ukbVªkstu (Nitrogen) 

 

¼79½ ouksUewyu dk dkj.k gS % 
 The reason for deforestation is : 

(i) Hkou fuekZ.k (construction of building) 

(ii) lM+d fuekZ.k (construction of Road) 

(iii) dkxt m|ksx (paper industry) 

(iv) buesa ls lHkh (all of these) 

 

¼80½ dkSu thok’e Ãa/ku ugha gS\ 
 Which one is not a fossil fuel ? 

(i) dks;yk (coal)   (ii) ydM+h (wood) 

(iii) ÁkÑfrd xSl (natural gas)  (iv) isVªksfy;e (Petroleum) 

 
 

Answer 

61 (ii) 

62 (ii) 

63 (i) 

64 (ii) 

65 (i) 

66 (iii) 

67 (i) 

68 (ii) 

69 (i) 

70 (i) 

71 (i) 

72 (iii) 

73 (i) 

74 (i) 

75 (iii) 

76 (iv) 

77 (iv) 

78 (iv) 

79 (iii) 

80 (ii) 

 


